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PLEASE NOTE: IF YOU HAVE THE OPINION THAT INSUFFICIENT INFORMATION
IS SUPPLIED FOR YOU TO ANSWER A PARTICULAR QUESTION, MAKE A
REALISTIC ASSUMPTION, MOTIVATE IT AND THEN ANSWER THE QUESTION.

QUESTION | OSCILLOSCOPES
11 Consider Figuie 1 below and calculate the required parametets histed below
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Figure 1 Oscilloscope display of two sine waves
111  Peak-to-peak voltage of Signal 2 (1)
112 RMS voltage of Signal 2 4]
113  Peak-to-peak voltage of Signal 1 €))
114  Average voltage of Signal 1 n
115 Ficquency of Signal 1 0]

116  The power (W) dissipated i a 50 Q load if Signal 1 1s measurcd acioss the
load ' (1
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